EARAROBEEIERT — 2 N— IBISH —F

201756840 (B) 6mM£R1A

I >%3% B3

(xwlw | lmEmml - |5 @) w8

[A&E£] 1 7% :200,000 W ~ 23&:46,000 37#&:24,000 M  43%:18,000H" 5 3&:12,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. ae o BWURF 140. —7-3- . — SEE_ (£R)
i NEYVLEEEY 3 o 1(45))8 9-7-3-2 | 41.2 8 :1_7:) ik
LTANMWNTTFY— B:VvoTbL—> FIER  SRTHE
s i 3 | REXA 1:40.9 1-1-1-1 | 42.1| — 4 444 | BERRE (£9R)
1 s RE&E #53.0° (1/2) i) | (B J PN
L:Jr7—3UT7> B:T7AFUTFIb B &HX
- y— ft 3 | PBEEH 1:41.7 7-7-5-4 | 41.8| — 7 514 | BHARR (£R)
3 4| E—=>7 =222 54.0° (4) (o) | W) Tr=2bETa>
LI INATA—H— B:Tr—ZMFA b HE5
> == # 3 | SREA 1:42.2 8-9-9-7 |4.1| — 6 484 | BIERZ (£R)
401101 SIMATMRT T 54.0 (2 1/2) “+2) INEEFRER ’
LN=HINK BioA %0 HE R
S TFTST 43 | MEH 1:42.5 10-10-10-7 | 40.7 | — 10 | 381 |JIAHAL (£R)
5 2 N)wTFTZ7 54.0 (11/2) (-3) (B) x"—2457
L:HUSTLYFLN B4 —2EED #)1145035
RS jt 3 | MEH 1:42.7 6-5-7-5 |42.8| — 9 397 | ERRtE (£R)
6l8l11|/VN>¥aw 54.0 %) Cray | (B J P NER
LT SANIVE Bagyrhve A
e TN 4t 3 | BEAGLA 1:43.3 5-6-8-5 |43.1| — 2 445 | BSF (&R)
718l10| 7> FEXZHZY 56.0 3) (-1) | B3EE
LTIy va%y—F B:h7143F0 willl 280
>80 4 3 | BEEAR 1:43.5 3-3-2-3 |44.2| — 5 476 | DNEERIZE (£IR)
817|8 NTH Dy T 56.0 ) (-p) |PBET ’
R:7A07% B:eY7z7LTq T A
S, t 3 | RYF 1:45.6 2-2-5-9 | 46.0| — 1 M | HARR (£R)
9|5|5 | TA¥Y—>~ 54.0 (514) 43 | B Tr—ZhEva
R:xA1=ZGr7— B:UT7SAXHLAR =N e ]
= SN 4 3 | BB 1:45.8 3-3-3-9 | 46.5| — 3 418 | IlIHEZ (&R)
EH 7| FANZINYN A il " | G
LNNVTSY BiAY ST —F R RTHIS
o3 | AEHS - - — | = = = |EeEL (&R
x| 7| 9|37 54.0 (BH) ) | ) k=zHT
XL JARZN BEILA-T X HR&S KMEXT-T0
® I —F—@EBIERL
13=7r= 6,5,(7,8),10,11,4,1,3,2
20—F— 6,5,(7,8),11,10, (3,4) ,1,2
Jol=5r= 6,8,(3,7),(4,5),11,10,1,2
40—+— |[6,3,8,4,(10,11),(1,2),(5,7)
[ N3
B OB 3 1,710 714K 3-6 2,590M % E 3-6 2,610MH 3EHE 3-4-6 14,740H
8 B 3 920M 3-4 5,250 B 3-6 8,450M K31 3-6-4 125,100
6 240M 4-6 1,100 B E 3-6 3,990
4 610M B H 3-6 9,460

ABICOVWTRDTEEERROODE. TR LIV,




